## Acta Universitatis Carolinae. Mathematica et Physica

Ladislav Beran<br>On a construction of amalgamation I

Acta Universitatis Carolinae. Mathematica et Physica, Vol. 14 (1973), No. 2, 31--39
Persistent URL: http://dml.cz/dmlcz/142311

## Terms of use:

## © Univerzita Karlova v Praze, 1973

Institute of Mathematics of the Academy of Sciences of the Czech Republic provides access to digitized documents strictly for personal use. Each copy of any part of this document must contain these Terms of use.
This paper has been digitized, optimized for electronic delivery and stamped
with digital signature within the project DML-CZ: The Czech Digital
Mathematics Library http://project.dml.cz

# On a Construction of Amalgamation I 

L. BERAN

Department of Mathematics, Charles University, Prague

Received 23 fuly 1973

This paper is concerned with a construction which generalizes some known constructions used in the theory of posets. We mention here e.g. the extensions in the sense of G. G. Boulaye [3] and especially the disjoint sums of M. F. Janowitz [7], the pasting of R. J. Greechie [4], [5], [6] who discovered the convenience of such constructions for the study of orthomodular posets and lattices. I hope that the present approach will be useful in other connections as well.

The purpose of this note is to investigate some of the basic questions about the amalgams. The results were partly reported in Mai 1969 [1] and in September 1969 [2].

## I. Introduction

For two subposets $\mathscr{M}, \mathcal{N}$ of a poset $\mathscr{P}$ let $[\mathscr{M}, \mathcal{N}]=\{[x, y] \mid x \in M, y \in N$ or $x \in N, y \in M$ and (in both cases) $x \leqq y\}$.

Consider a system $\left\{\mathscr{S}_{\lambda}\right\}_{\lambda \in \Lambda}$ of posets $\mathscr{S}_{\lambda}=\left\langle S_{\lambda}, \leqq_{\lambda}\right\rangle$. (The subscripts distinguishing different partial ordering will be often omitted.) Suppose $\mathscr{S}_{\lambda}^{\circ}$ is a subposet of the poset $\mathscr{S}_{\lambda}, \lambda \in \Lambda$, and for each $\lambda_{1}, \lambda_{2} \in \Lambda$ suppose $\mathscr{S}_{\lambda_{1} / \lambda_{2}}$ is an order isomorphism of $\mathscr{S}_{\lambda_{1}}^{\circ}$ onto $\mathscr{S}_{\lambda_{2}}^{\circ}$. A poset $\mathscr{S}$ is called an amalgam of the $\mathscr{S}_{\lambda}{ }^{\prime}$ s relative to the isomorphisms $\varphi_{\lambda_{1} / \lambda_{2}}$ iff there exist order isomorphisms $\varphi_{\lambda}: \mathscr{S}_{\lambda} \rightarrow \mathscr{S}$ such that
(a) the union $\bigcup\left\{\varphi_{\lambda}\left(S_{\lambda}\right) ; \lambda \in \Lambda\right\}$ of the sets $\varphi_{\lambda}\left(S_{\lambda}\right)=\left\{\varphi_{\lambda}(x) \mid x \in S_{\lambda}\right\}$ equals to $S$;
(aa) for any two distinct $x, \lambda \in \Lambda$ and for each nonempty interval $\mathcal{F}=$ $=\left[\varphi_{\chi}\left(S_{\chi}\right), \varphi_{\lambda}\left(S_{\lambda}\right)\right]$ the intersection $\mathcal{F} \cap \varphi_{\chi}\left(S_{\chi}^{\circ}\right)$ is nonempty;
(aaa) for each $\alpha, \beta \in \Lambda$ the diagram

is commutative and $\varphi_{a}\left(S_{a}^{\circ}\right) \neq \varnothing$.

We will now confine our attention to some immediate consequences of the preceding definition.

Lemma 1,1. (i) If $\varphi \lambda_{\lambda_{1}}\left(s_{1}\right)=\varphi_{\lambda_{2}}\left(s_{2}\right)$ and $\lambda_{1} \neq \lambda_{2}$, then $s_{1} \in S_{\lambda_{1}}^{\circ}$, $s_{2} \in S_{\lambda_{1}}^{\circ}$ and $s_{2}=\varphi_{\lambda_{1} / \lambda_{2}}\left(s_{1}\right)$. (ii) If card $\Lambda \geqq 2$ and $\lambda \neq \mu, \lambda, \mu \in \Lambda$, then

$$
\varphi_{\lambda}\left(S_{\lambda}\right) \cap \varphi_{\mu}\left(S_{\mu}\right)=\varphi_{\lambda}\left(S_{\lambda}^{0}\right)=\bigcap\left\{\varphi_{\lambda}\left(S_{\lambda}\right) ; \quad \lambda \in \Lambda\right\} .
$$

Proof. $A d$ (i): By (aa) $\left[\varphi_{\lambda_{1}}\left(s_{1}\right), \varphi_{\lambda_{2}}\left(s_{2}\right)\right] \cap \varphi_{\lambda_{1}}\left(S_{\lambda_{1}}^{\circ}\right) \neq \varnothing$ and so $\varphi_{\lambda_{1}}\left(s_{1}\right)=$ $=\varphi_{\lambda_{1}}\left(s_{1}^{\circ}\right)$ for an element $s_{1}^{\circ} \in S_{\lambda_{1}}^{\circ}$. Hence $s_{1} \in S_{\lambda_{1}}^{\circ}$ and similarly $s_{2} \in S_{\lambda_{2}}^{\circ}$. In view of (aaa) this yields $\varphi_{\lambda_{2}}\left(s_{2}\right)=\varphi_{\lambda_{1}}\left(s_{1}\right)=\varphi_{\lambda_{2}}\left(\varphi_{\lambda_{1} / \lambda_{2}}\left(s_{1}\right)\right.$ ), so that $s_{2}=$ $=\varphi_{\lambda_{1} / \lambda_{2}}\left(s_{1}\right)$.
$A d$ (ii): If $s \in \varphi_{\lambda}\left(S_{\lambda}\right) \cap \varphi_{\mu}\left(S_{\mu}\right)$, then $s=\varphi_{\lambda}\left(s_{1}\right)=\varphi_{\mu}\left(s_{2}\right)$ and, by (i), $s=$ $=\varphi_{\mu}\left(\varphi_{\lambda / \mu}\left(s_{1}\right)\right) \in \varphi_{\lambda}\left(S_{\lambda}^{0}\right)$. Since $\varphi_{\lambda}\left(S_{\lambda}^{0}\right) \subset \varphi_{\mu}\left(S_{\mu}\right)$ this completes the proof.

Proposition 1,2 Let $\left\{\mathscr{S}_{\lambda}\right\}_{\lambda \in \Lambda}, \mathscr{S}, \varphi_{\lambda}$ and $\varphi_{\lambda_{1} / \lambda_{2}}$ be defined as above and let $\varphi_{\lambda}^{*}: \mathscr{S}_{\lambda} \rightarrow \mathscr{S}^{*}=\left\langle S^{*}, \leqq\right\rangle$ be order isomorphisms satisfying the conditions (a), (aa), (aaa). Then the poset $\mathscr{S}^{*}$ is isomorphic to the poset $\mathscr{S}^{\text {. }}$

Proof. For every $s \in S$ there exists $s_{\lambda} \in S_{\lambda}$ such that $s=\varphi_{\lambda}\left(s_{\lambda}\right)$. Defining a mapping $\psi$ of $S$ into $S^{*}$ by $\psi(s)=\varphi_{\lambda}^{*}\left(s_{\lambda}\right)$, we shall see that $\psi$ is an isomorphism of $\mathscr{S}$ onto $\mathscr{S}^{*}$. Clearly, $\psi$ is well-defined. Furthermore, if $s^{*} \in S^{*}$, then $s^{*}=$ $=\varphi_{\lambda}^{*}\left(s_{2}\right), s_{2} \in S_{\lambda_{2}}$ and for $s=\varphi_{\lambda}\left(s_{\lambda}\right)$ we have $s^{*}=\psi(s)$. Thus $\psi$ maps $S$ onto $S^{*}$. If $s=\varphi_{\lambda}\left(s_{\lambda}\right), t=\varphi_{\mu}\left(t_{\mu}\right)$, then in the case $\lambda=\mu$ it is obvious that $s \leqq t$ is equivalent to $\psi(s) \leqq . \psi(t)$; in the case $\lambda \neq \mu$ we can use the following argument: The assumption $\lambda \neq \mu$ implies that there exist $s_{\lambda}^{\circ} \in S_{\lambda}^{\circ}, s_{\mu}^{\circ} \in S_{\mu}^{\circ}$ such that $s=\varphi_{\lambda}\left(s_{\lambda}\right) \leqq \varphi_{\lambda}\left(s_{\lambda}^{0}\right)=\varphi_{\mu}\left(s_{\mu}^{\circ}\right) \leqq \varphi_{\mu}\left(t_{\mu}\right)$. Hence $s_{\lambda} \leqq s_{\lambda}^{\circ}$ and $s_{\mu}^{\circ} \leqq t_{\mu}$. Consequently,

$$
\psi(s)=\varphi_{\lambda}^{*}\left(s_{\lambda}\right) \leqq \varphi_{\lambda}^{*}\left(s_{\lambda}^{\circ}\right)=\varphi_{\mu}^{*}\left(s_{\mu}^{\circ}\right) \leqq \varphi_{\mu}^{*}\left(t_{\mu}\right)=\psi(t) .
$$

Replacing here the $\varphi$ 's by $\varphi^{*}$ 's we see that also the implication $\psi(s) \leqq, \psi(t) \Rightarrow$ $\Rightarrow s \leqq t$ is valid and this proves the proposition.

Let $\psi_{\lambda / \mu}$ be the mappings defined by $\psi_{\lambda / \mu}=\varphi_{\lambda / \mu}$ iff $\lambda \neq \mu, \lambda, \mu \in \Lambda$ and for $\lambda=\mu$ let $\psi_{\lambda / \mu}$ be the identity mapping on $S_{\lambda}$.

We now associate with each element $s \in S_{\lambda}$ a symbol $s^{(\lambda)}$ and we next define $A_{\Lambda}=A_{\Lambda}\left(S_{\lambda}\right)=\bigcup_{\lambda \in \Lambda}\left\{l^{(\lambda)} \mid l \in S_{\lambda}\right\}$. Let $R$ be the relation on $A_{\Lambda}\left(S_{\lambda}\right)$ defined by

$$
l_{1}^{(\lambda)} R l_{2}^{(\mu)} \Leftrightarrow \psi_{\lambda / \mu}\left(l_{1}\right)=l_{2} .
$$

Lemma 1,3. (i) If $\psi_{\lambda / \mu}\left(l_{1}\right)=l_{2}$ and $\psi_{\mu / x}\left(l_{2}\right)=l_{3}$, then $\psi_{\lambda / x}\left(l_{1}\right)=l_{3}$. (ii) $R$ is an equivalence relation on $A_{A}$.

Proof. The second statement is a corollary of the first. It therefore remains to show that $\psi_{\lambda / x}\left(l_{1}\right)=l_{3}$ whenever $\lambda \neq \mu$ and $\mu \neq x$, since otherwise the assertion is trivial. But, $\varphi_{\lambda}\left(l_{1}\right)=\varphi_{\mu}\left(\varphi_{\lambda / \mu}\left(l_{1}\right)\right)=\varphi_{\mu}\left(l_{2}\right)$ and, similarly, $\varphi_{\chi}\left(l_{3}\right)=$ $=\varphi_{\mu}\left(l_{2}\right)$, completing the proof.

The quotient set $A_{\Lambda} / R$ will be denoted by $\mathfrak{A}_{\Lambda}=\mathfrak{A}_{\Lambda}\left(S_{\lambda}\right)$ and for the equivalence class of $s$ we use the notation [ $s$ ].

Lemma 1,4. Let $\Phi_{\lambda}$ be the projection mapping, $\Phi_{\lambda}: s_{\lambda} \mid \rightarrow\left[s_{\lambda}\right]$. Then
(i) $U\left\{\Phi_{\lambda}\left(S_{\lambda}\right) ; \lambda \in \Lambda\right\}=\mathfrak{A}_{\Lambda}$.
(ii) For every $\alpha, \beta \in \Lambda$ and every $s_{0} \in S_{a}^{\circ}$

$$
\Phi_{\beta}\left(\varphi_{a / \beta}\left(s_{0}\right)\right)=\Phi_{a}\left(s_{0}\right) .
$$

Proof of (ii): If $[s]=\Phi_{a}\left(s_{0}\right)$, then $\left[s_{0}\right]=\left[s_{0}^{(\alpha)}\right]$. Now let $s_{2}=\varphi_{a / \beta}\left(s_{0}\right)$. Since $s_{2} \in S_{\beta}^{\circ}$, we have

$$
\Phi_{a}\left(s_{0}\right)=\left[s_{0}^{(a)}\right]=\left[\left(\varphi_{\beta / a}\left(s_{2}\right)\right)^{(a)}\right]=\left[s_{2}^{(\beta)}\right]=\Phi_{\beta}\left(s_{2}\right)=\Phi_{\beta}\left(\varphi_{a / \beta}\left(s_{0}\right)\right) .
$$

We are now able to show that $\mathfrak{A}_{\Lambda}$ can be made (in a natural way) into a poset. Actually, one can construct the relation $\leqq$ as follows: If $\left[m^{(\mu)}\right],\left[n^{(v)}\right] \in \mathfrak{A}_{\Lambda}$ we define [ $\left.m^{(\mu)}\right] \leqq\left[n^{(\nu)}\right]$ iff there exist $m_{0} \in S_{\mu}, n_{0} \in S_{v}$ such that $m \leqq m_{0}, n_{0} \leqq \nu n$ and $\psi_{\mu / v}\left(m_{0}\right)=n_{0}$.

Lemma 1,5. $\left\langle\mathfrak{H}_{\Lambda}, \leqq\right\rangle$ is a poset.
Proof. If $\left[m^{(\lambda)}\right]=\left[m_{1}^{\left(\lambda_{1}\right)}\right],\left[n^{(\mu)}\right]=\left[n_{1}^{\left(\mu_{1}\right)}\right]$ and if there are $m_{0}, n_{0}$ such that

$$
m \leqq m_{0}, \quad \psi_{\lambda / \mu}\left(m_{0}\right)=n_{0} \leqq_{\mu} n
$$

then, by Lemma 3 (i),

$$
\psi_{\lambda_{1} / \mu_{1}}\left(\psi_{\mu / \lambda_{1}}\left(n_{0}\right)\right)=\psi_{\lambda J \mu_{2}}\left(m_{0}\right)
$$

and, by the definition of the $\psi$ 's,

$$
\psi_{\lambda_{1} / \lambda}\left(m_{1}\right)=m, \quad \psi_{\mu_{1} / \mu}\left(n_{1}\right)=n .
$$

Hence

$$
\psi_{\lambda_{1} / \lambda}\left(m_{1}\right) \leqq \psi_{\mu / \lambda}\left(n_{0}\right), \quad \psi_{\lambda / \mu}\left(m_{0}\right) \leqq \psi_{\mu_{1} / \mu}\left(n_{1}\right)
$$

and

$$
m_{1} \leqq \psi_{\mu / \lambda_{1}}\left(n_{0}\right), \quad \psi_{\lambda_{1} / \mu_{1}}\left(\psi_{\mu / \lambda_{1}}\left(n_{0}\right)\right)=\psi_{\lambda / \mu_{1}}\left(m_{0}\right) \leqq n_{1} .
$$

This proves that $\leqq$ is well-defined.
To prove transitivity suppose $\left[m^{(\lambda)}\right] \leqq\left[n^{(\mu)}\right]$ and $\left[n^{(\mu)}\right] \leqq\left[p^{(\tau)}\right]$. Then there exist $m_{0}, n_{0}, p_{0}$ such that

$$
\begin{aligned}
& m \leqq m_{0}, \quad n_{0} \leqq{ }_{\mu} n_{2} \quad n \leqq n_{1}, \quad p_{0} \leqq \tau p, \\
& \psi_{\lambda / \mu}\left(m_{0}\right)=n_{0}, \quad \psi_{\mu / \tau}\left(n_{1}\right)=p_{0} .
\end{aligned}
$$

Since $n_{0} \leqq n \leqq n_{1}$, we get $\psi_{\lambda / \tau}\left(m_{0}\right)=\psi_{\mu / \tau}\left(n_{0}\right) \leqq p$.
Thus $\left[m^{(\lambda)}\right] \leqq\left[p^{(\tau)}\right]$.
We next check the antisymmetry: If $\left[m^{(\lambda)}\right] \leqq\left[n^{(\mu)}\right] \leqq\left[m^{(\lambda)}\right]$, then there are $m_{0}, n_{0}, n_{1}, m_{1}$ such that

$$
\begin{array}{cl}
\psi_{\lambda / \mu}\left(m_{0}\right)=n_{0}, & \psi_{\mu / \lambda}\left(n_{1}\right)=m_{1} \\
m \leqq m_{0}, \quad n_{0} \leqq n, & n \leqq n_{1}, \quad m_{1} \leqq m .
\end{array}
$$

Since $n_{0} \leqq n$,

$$
m \leqq m_{0}=\psi_{\mu / \lambda}\left(n_{0}\right) \leqq \psi_{\mu / \lambda}(n) \leqq \psi_{\mu / \lambda}\left(n_{1}\right)=m_{1} \leqq m
$$

hence $\left[n^{(\mu)}\right]=\left[m^{(\lambda)}\right]$.
Lemma 1,6. The mappings $\Phi_{\lambda}$ defined in Lemma 1,4 are order isomorphisms satisfying the conditions (a), (aa), (aaa).

Proof. By Lemma 1,4 it only remains to prove (aa). Suppose that
$\Phi_{\chi}\left(s_{1}\right) \leqq \Phi_{\lambda}\left(s_{2}\right), \quad \varkappa \neq \lambda, \quad s_{1} \in S_{\varkappa}, \quad s_{2} \in S_{\lambda} . \quad$ Then $\left[s_{1}^{(\kappa)}\right] \leqq\left[s_{2}^{(\lambda)}\right]$ and there exist $s_{10}, s_{20}$ such that

$$
s_{1} \leqq s_{10}, \quad \varphi_{\chi / \lambda}\left(s_{10}\right)=s_{20} \leqq s_{2} .
$$

Therefore $\left[s_{1}^{(\alpha)}\right] \leqq\left[s_{10}^{\left.()_{0}\right)}\right]=\left[s_{20}^{(\lambda)}\right] \leqq\left[s_{2}^{(\lambda)}\right]$ and $\Phi_{\chi}\left(s_{10}\right) \in\left[\left[s_{1}^{(\alpha)}\right],\left[s_{2}\right]\right] \cap \Phi_{\chi}\left(S_{\chi}^{\circ}\right)$.
We can summarize the results proved above as follows:
Theorem 1,7. For any system $\left\{\mathscr{S}_{\lambda}\right\}_{\lambda \in \Lambda}$ of posets there exists an amalgam relative to the given system of the isomorphisms $\varphi_{\lambda_{1} / \lambda_{1}}$ and it is uniquelly determined (up to isomorphism).

For the amalgam we shall use the notation $: \varphi_{\lambda / \mu}: \mathscr{S}_{\lambda}, \lambda \in \Lambda$. Since the amalgam of two posets $\mathscr{S}_{1}, \mathscr{S}_{2}$ is determined by a unique order isomorphism $\varphi: \mathscr{S}_{1}^{\circ} \rightarrow \mathscr{S}_{2}^{\circ}$, we write in this case simply $\mathscr{S}_{1}: \varphi: \mathscr{S}_{2}$.

## 2. Amalgams of lattices

To avoid repeating that a poset is a lattice, we make the assumption that all symbols, in the remainder of the paper, denoted by $\mathscr{L}$ having possibly subscripts or superscripts will denote lattices.

Simple examples show that the amalgam $: \varphi_{\lambda / \mu}: \mathscr{L}_{\lambda}, \lambda \in \Lambda$ need not be a lattice even if we suppose $\mathscr{S}_{\lambda}^{\circ}=\mathscr{L}_{\lambda}^{\circ}$ are sublattices of the lattices $\mathscr{L}_{\lambda}$. We shall now treat the question under what conditions is such an amalgam a lattice.

We start off with a relatively simple but, at the same time, highly effective and useful result about the basic relations in an amalgam.

Lemma 2,1. (i) If $\mathscr{S}_{\lambda}^{\circ}=\mathscr{P}_{\lambda}^{\circ}$ are (meet) subsemilattices of the lattices $\mathscr{L}_{\lambda}$, then $\left[a^{(\alpha)}\right] \cap\left[b^{(\alpha)}\right]=\left[(a \cap b)^{(\alpha)}\right]$ for any $\left[a^{(\alpha)}\right],\left[b^{(\alpha)}\right] \in \mathfrak{U}_{\Lambda}\left(L_{\Lambda}\right)$.
(ii) If $\mathscr{S}_{\lambda}^{\circ}=\mathscr{L}_{\lambda}^{\circ}$ are sublattices of the lattices $\mathscr{L}_{\lambda}$ and if $\mathfrak{A}_{\Lambda}\left(\mathscr{L}_{\lambda}\right)$ is a lattice, then the lattices $\left\langle\varphi_{\lambda}\left(L_{\lambda}\right), \leqq\right\rangle$ are sublattices of the amalgam.
(iii) Let $\mathscr{S}_{\lambda}^{\circ}=\mathscr{L}_{\lambda}^{\circ}$ and suppose that $\left[a^{(\alpha)}\right] \cap\left[b^{(\beta)}\right]$ exists. Then there is an element $d$ belonging to $L_{a}$ or to $L_{\beta}$ such that $[d]=\left[a^{(\alpha)}\right] \cap\left[b^{(\beta)}\right]$.
Proof. $A d(\mathbf{i})$ : Suppose that $\left[a^{(\alpha)}\right] \geqq\left[c^{(\gamma)}\right]$ and $\left[b^{(\alpha)}\right] \geqq\left[c^{(\gamma)}\right]$. Without loss of generality we may assume that $\gamma \neq \alpha$. Hence there exist $a_{0}, c_{0}, b_{0}, c_{1}$ such that

$$
\begin{gathered}
a \geqq a_{0}, \quad c_{0} \geqq c, \quad b \geqq b_{0}, \quad c_{1} \geqq c \\
\psi_{a / \gamma}\left(a_{0}\right)=c_{0}, \quad \psi_{a / \gamma}\left(b_{0}\right)=c_{1} .
\end{gathered}
$$

Since $a_{0} \cap b_{0} \in P_{a}^{\circ}, c_{0} \cap c_{1} \in P_{\gamma}^{\circ}$, we have

$$
\psi_{a / \gamma}\left(a_{0} \cap b_{0}\right)=\varphi_{a / \gamma}\left(a_{0} \cap b_{0}\right)=\varphi_{a / \gamma}\left(a_{0}\right) \cap \varphi_{a / \gamma}\left(b_{0}\right)=c_{0} \cap c_{1}
$$

and $a \cap b \geqq a_{0} \cap b_{0}, c_{0} \cap c_{1} \geqq c$. It follows that $\left[(a \cap b)^{(a)}\right] \geqq\left[c^{(\gamma)}\right]$.
$A d$ (ii): This is clear from (i).
$A d$ (iii): Set $\left[d^{(x)}\right]=\left[a^{(\alpha)}\right] \cap\left[b^{(\beta)}\right]$. We can suppose that $\alpha \neq \beta, x \neq \alpha$ and $x \neq \beta$. Since $\left[a^{(\alpha)}\right] \geqq\left[d^{(x)}\right]$ and $\left[b^{(\beta)}\right] \geqq\left[d^{(x)}\right]$, there are $b_{0}, c_{0}, a_{0}, c_{1}$ such that

$$
b \geqq b_{0}, \varphi_{\beta / x}\left(b_{0}\right)=c_{0} \geqq d, a \geqq a_{0} \varphi_{a / x}\left(a_{0}\right)=c_{1} \geqq d .
$$

A straightforward computation yields $\left[d^{(x)}\right]=\left[\left(p_{x / a}\left(c_{0} \cap c_{1}\right)\right)^{(\alpha)}\right]=\left[a^{(\alpha)}\right] \cap\left[b^{(\beta)}\right]$.
Throughout the rest of this paper, unless otherwise specified, by an amalgam we shall mean an amalgam where $\mathscr{S}_{\lambda}^{\circ}=\mathscr{L}_{\lambda}$ are sublattices of the lattices $\mathscr{L}_{\lambda}$.

We write $(c]=\{z \mid z \leqq c\}, \quad[c)=\{v \mid v \geqq c\} \quad$ and similarly $\varphi(c]=$ $=\{y \mid \exists x x \leqq c, \varphi(x)=y\}$ and we use this notation below.

Lemma 2,2. If $\mathfrak{N}_{\Lambda}\left(\mathscr{L}_{\lambda}\right)$ is a meet-semilattice, then

## (A)

$$
\left\{\begin{array}{l}
\forall \lambda \neq \mu \forall c_{1} \in L_{\lambda} \forall c_{2} \in L_{\mu} \\
r_{\lambda^{\prime} \lambda}\left(c_{1}\right] \neq \varnothing \text { or } \quad \varphi_{\mu / \mu}\left(c_{2}\right] \neq \varnothing .
\end{array}\right.
$$

Proof. Let $\left[d^{(x)}\right]=\left[c_{1}^{(\lambda)}\right] \cap\left[c_{2}^{(\mu)}\right]$. Then $\left[c_{1}^{(\lambda)}\right] \geqq\left[d^{(x)}\right],\left[c_{2}^{(\mu)}\right] \geqq\left[d^{(x)}\right]$ and there exist $c_{10}, d_{10}, c_{20}, d_{20}$ such that

$$
c_{1} \geqq c_{10}, \psi_{\lambda / x}\left(c_{10}\right)=d_{10} \geqq d, c_{2} \geqq c_{20}, \psi_{\mu / x}\left(c_{20}\right)=d_{20} \geqq d .
$$

By hypothesis, we have $\psi_{\lambda / \mu}=\varphi_{\lambda / \mu}$ or $\psi_{\mu / \chi}=\varphi_{\mu / \chi}$. Say $\psi_{\lambda / \mu}=\varphi_{\lambda / \mu}$. Then $\varphi_{\lambda / x}\left(c_{10}\right)=d_{10}$ implies $\varphi_{\lambda / \lambda}\left(c_{10}\right)=\varphi_{x / \lambda}\left(d_{10}\right)$ and we therefore conclude that $\varphi_{\lambda / \lambda}\left(c_{1}\right] \neq 0$.

Lemma 2,3. If $\mathfrak{H}_{\Lambda}\left(\mathscr{L}_{\lambda}\right)$ is a meet-semilattice, then
(B)

$$
\left\{\begin{array}{l}
\forall \lambda \neq \mu\left(\varphi_{\lambda / \lambda}\left(c_{1}\right] \neq \varnothing \text { and } \varphi_{\mu / \mu}\left(c_{2}\right] \neq \varnothing\right) \Rightarrow \\
\Rightarrow\left[\left(\forall x \in \varphi_{\mu / \lambda}\left(c_{2}\right] c_{1} \cap x \in \varphi_{\mu / \lambda}\left(c_{2}\right]\right) \text { or }\left(\forall y \in \varphi_{\lambda / \mu}\left(c_{1}\right] c_{2} \cap y \in \varphi_{\lambda / \mu}\left(c_{1}\right]\right)\right] .
\end{array}\right.
$$

Proof. Suppose $c_{1}$ and $c_{2}$ are any two elements such that

$$
\begin{array}{rll}
\varphi_{\lambda / \lambda}\left(c_{1}\right] \neq \varnothing, & \varphi_{\mu / \mu}\left(c_{2}\right] \neq \varnothing & \exists x \in \varphi_{\mu / \lambda}\left(c_{2}\right] \\
c_{1} \cap x \notin \varphi_{\mu / \lambda}\left(c_{2}\right] & \exists y \in \varphi_{\lambda / \mu}\left(c_{1}\right] & c_{2} \cap y \notin \varphi_{\lambda / \mu}\left(c_{1}\right] .
\end{array}
$$

Since $\left[c_{1}^{(\lambda)}\right] \cap\left[c_{2}^{(\mu)}\right]=\left[d^{(x)}\right]$ exists, there are $c_{10}, d_{10}, c_{20}, d_{20}$ for which

$$
\begin{array}{ll}
c_{1} \geqq c_{10} & \psi_{\lambda / x}\left(c_{10}\right)=d_{10} \geqq d \\
c_{2} \geqq c_{20} & \psi_{\mu / x}\left(c_{20}\right)=d_{20} \geqq d .
\end{array}
$$

We shall show that we can consider only the case where $x=\lambda$ or $x=\mu$. For suppose $x \neq \lambda$ and $x \neq \mu$. Then $\left[\left(d_{10} \cap d_{20}\right)^{(x)}\right]=\left[d^{(x)}\right]$ and therefore $d_{10} \cap d_{20}=d$. Now the assumption $\lambda \neq x \neq \mu$ implies that $d_{10} \in L_{x}^{\circ}, d_{20} \in L_{x}^{\circ}$ and so $d \in L_{x}^{\circ}$. But this implies $\left[d_{1}^{(\lambda)}\right]=\left[c_{1}^{(\lambda)}\right] \cap\left[c_{2}^{(\mu)}\right]$ where $d_{1}=\varphi_{x / \lambda}(d)$.

In the case $x=\lambda \neq \mu$ we get easily

$$
\left[\left(c_{1} \cap x\right)^{(\lambda)}\right] \leqq\left[c_{1}^{(\lambda)}\right], \quad\left[\left(c_{1} \cap x\right)^{(\lambda)}\right] \leqq\left[x^{(\lambda)}\right] \leqq\left[c_{2}^{(\mu)}\right] ;
$$

hence

$$
\left[\left(c_{1} \cap x\right)^{(\lambda)}\right] \leqq\left[c_{1}^{(\lambda)}\right] \cap\left[c_{2}^{(\mu)}\right]=\left[d^{(\lambda)}\right]
$$

On the other hand, since $\left[d^{(\lambda)}\right] \leqq\left[c_{2}^{(\mu)}\right]$, there exist $d_{0}, c_{30}$ with

$$
d \leqq d_{0}, \quad \varphi_{\lambda / \mu}\left(d_{0}\right)=c_{30} \leqq c_{2}
$$

From the fact that $\mathscr{L}_{\lambda}^{\circ}$ is a sublattice of $\mathscr{L}_{\lambda}$, we conclude $d_{3}=d_{0} \cup x \in L_{\lambda}^{\circ}$. Moreover, $\left[\left(c_{2} \cap y\right)^{(\mu)}\right] \leqq\left[y^{(\mu)}\right] \leqq\left[c_{1}^{(\lambda)}\right]$ and therefore

$$
\left[\left(c_{2} \cap y\right)^{(\mu)}\right] \leqq\left[c_{1}^{(\lambda)}\right] \cap\left[c_{2}^{(\mu)}\right]=\left[d^{(\lambda)}\right]
$$

Thus there are $p_{0}, q_{0}$ such that

$$
c_{2} \cap y \leqq p_{0}, \quad \psi_{\mu / \lambda}\left(p_{0}\right)=q_{0} \leqq d
$$

Let $p_{1}=p_{0} \cap y, \quad q_{1}=\varphi_{\mu / \lambda}(y) \cap q_{0}$. Because of

$$
\left[c_{2}^{(\mu)}\right] \geqq\left[c_{3}^{(\mu)}\right]=\left[d_{3}^{(\lambda)}\right] \geqq\left[d^{(\lambda)}\right] \geqq\left[q_{1}^{(\lambda)}\right]=\left[p_{1}^{(\mu)}\right]
$$

we have $p_{1}=y \cap c_{2}$ and finally

$$
y \cap c_{2}=\varphi_{\lambda / \mu}\left(q_{1}\right) \in \varphi_{\lambda / \mu}\left(c_{1}\right]
$$

This contradiction completes the proof.
The conditions (A) and (B) are not sufficient that $\mathfrak{A}_{\Lambda}\left(\mathscr{L}_{\lambda}\right)$ be a meet-semilattice. For, let $[0,1]: \varphi:[0,1]$ be the amalgam of two copies $\mathscr{L}_{1}, \mathscr{L}_{2}$ of $[0,1] \subset \mathbf{R}$ where $L_{1}^{\circ}=L_{2}^{\circ}=\{x \mid 0 \leqq x<1, x \in \mathbf{Q}\}$ and $\varphi$ is the identity mapping of $L_{1}^{\circ}$. Then the conditions $(\mathbf{A})$ and $(\mathbf{B})$ hold, and yet $\left[1^{(1)}\right] \cap\left[1^{(2)}\right]$ does not exist.

Since (A) and (B) represent no guarantee for the existence of meets, we shall still consider an additional condition. (To denote the fact that $\sup _{P} M \in M$, we write $\sup _{P} M=\max M$, and in this case we say that the maximum of the set $M$ exists.)

Lemma 2,4. If $\mathfrak{A}_{\Lambda}\left(\mathscr{L}_{\lambda}\right)$ is a meet-semilattice, then
(C) $\left\{\begin{array}{l}\forall \lambda \neq \mu \quad \forall c_{1} \in L_{\lambda} \quad \forall c_{2} \in L_{\mu} \\ {\left[\left(y \in \varphi_{\lambda / \mu}\left(c_{1}\right] \Rightarrow c_{2} \cap y \in \varphi_{\lambda / \mu}\left(c_{1}\right]\right) \Rightarrow\right.} \\ \Rightarrow \text { the maximum of the set }\left\{c_{1} \cap x \mid x \in \varphi_{\mu / \lambda}\left(c_{2}\right]\right\} \\ \left.\left.\text { exists and } \varphi_{\mu / \lambda}\left(c_{2}\right] \neq \emptyset\right)\right] .\end{array}\right.$

Proof. Let $\left[d^{(x)}\right]=\left[c_{1}^{(\lambda)}\right] \cap\left[c_{2}^{(\mu)}\right]$. By Lemma 2,1 (iii), we may assume that $x=\lambda$ or $x=\lambda$.

Suppose first that $\varphi_{\lambda / \mu}\left(c_{1}\right]=\emptyset$. Then $\left[d^{(x)}\right]=\left[d_{2}^{(\mu)}\right]$ implies the existence of $c_{10}, d_{20}$ such that

$$
c_{1} \geqq c_{10}, \quad \varphi_{\lambda / \mu}\left(c_{10}\right)=d_{20} \geqq d_{2}
$$

and $\varphi_{\lambda / \mu}\left(c_{1}\right] \neq \emptyset$, a contradiction. Hence $\left[d^{(x)}\right]=\left[d_{1}^{(\lambda)}\right]$ and since $\varphi_{\lambda / \mu}\left(c_{1}\right]=\emptyset$, also $\varphi_{\lambda / \lambda}\left(c_{1}\right]=\emptyset$. By Lemma 2,2, $\varphi_{\mu / \mu}\left(c_{2}\right] \neq \emptyset$ and therefore $\varphi_{\mu / \lambda}\left(c_{2}\right] \neq \emptyset$. Note that the considerations we are going to use in the following depend only on the assumption $\varphi_{\mu / \lambda}\left(c_{2}\right] \neq \varnothing$. We shall refer to this fact in the end of the demonstration.

If $x \in \varphi_{\mu / \lambda}\left(c_{2}\right]$, then $\left[\left(c_{1} \cap x\right)^{(\lambda)}\right] \leqq\left[d_{1}^{(\lambda)}\right]$. Consequently $\left[d_{1}^{(\lambda)}\right] \leqq\left[c_{2}^{(\mu)}\right]$. Since $\left[d_{1}^{(\lambda)}\right] \leqq\left[c_{2}^{(\mu)}\right]$, there are $e, f$ such that $\left[d_{1}^{(\lambda)}\right] \leqq\left[e^{(\lambda)}\right]=\left[f^{(\mu)}\right] \leqq\left[c_{2}^{(\mu)}\right]$, and it is easy to see that $\left[d_{1}^{(\lambda)}\right]=\left[\left(c_{1} \cap e\right)^{(\lambda)}\right]$. This shows, however, that $d_{1}=c_{1} \cap e$, and the condition ( $\mathbf{C}$ ) is in this case valid.

Next assume that $\varphi_{\lambda / \mu}\left(c_{1}\right] \neq \varnothing$ and that the implication $y \in \varphi_{\lambda / \mu}\left(c_{1}\right] \Rightarrow$ $\Rightarrow c_{2} \cap y \in \varphi_{\lambda / \mu}\left(c_{1}\right]$ is true. Since $c_{2} \cap y \in \varphi_{\lambda / \mu}\left(c_{1}\right]$, there is an element $z \leqq c_{1}$ such that $\varphi_{\lambda / \mu}(z)=c_{2} \cap y$. It follows that $\varphi_{\mu / \lambda}\left(c_{2}\right] \neq \varnothing$.

It remains only to show that in the case $\varphi_{\lambda / \mu}\left(c_{1}\right] \neq \varnothing$ there exists the maximum of the set $\left\{c_{1} \cap x \mid x \in \varphi_{\mu / \lambda}\left(c_{2}\right]\right\}$. As above, we may suppose that $\chi=\lambda$ or $\varkappa=\mu$.

Then necessarily $x=\lambda$. For if $x=\mu$, then there exist $e, f$ such that $c_{1} \geqq e$, $\varphi_{\lambda / \mu}(e)=f \geqq d$ which implies $d=f \cap c_{2}$. Since $f \in \varphi_{\lambda / \mu}\left(c_{1}\right]$, we have $d=f \cap c_{2} \in$ $\in \varphi_{\lambda / \mu}\left(c_{1}\right]$ and $\left[d^{(\mu)}\right]=\left[\left(\varphi_{\mu / \lambda}\left(f \cap c_{2}\right)\right)^{(\lambda)}\right]$.

Now, if $\varkappa=\lambda$ and $\varphi_{\lambda / \mu}\left(c_{1}\right] \neq \varnothing$, then a repetition of the argument used above clearly leads to the desired result. Q.E.D.

Corollary. If the maximum mentioned in the lemma 2,4 exists, then

$$
\left[\left(\max \left\{c_{1} \cap x \mid x \in \varphi_{\mu / \lambda}\left(c_{2}\right]\right\}\right)^{(\lambda)}\right]=\left[c_{1}^{(\lambda)}\right] \cap\left[c_{2}^{(\mu)}\right] .
$$

Let $\Gamma_{1} \downarrow$ denote the set $\varphi_{\lambda / \mu}\left(c_{1}\right]$ and let, similarly, $\Gamma_{2}$ be the set $\varphi_{\mu / \lambda}\left(c_{2}\right]$. The set $\left\{c_{i} \cap y \mid y \in \Gamma_{j} \downarrow\right\}$ will be denoted by $c_{i} \wedge \Gamma_{j} \downarrow$.

Theorem 2,5. An amalgam $\mathfrak{A}_{A}\left(\mathscr{L}_{\lambda}\right)$ is a lattice iff it satisfies the following condition (D) and its dual:

$$
\left\{\begin{array}{l}
\forall \lambda \neq \mu \quad \forall c_{1} \in L_{\lambda} \quad \forall c_{2} \in L_{\mu}  \tag{D}\\
{\left[\left(\Gamma_{2} \downarrow \neq \varnothing, \text { the maximum of the set } c_{1} \wedge \Gamma_{2} \downarrow\right.\right.} \\
\text { exists and } \left.c_{2} \wedge \Gamma_{1} \downarrow \subset L_{\mu}^{\circ}\right) \text { or } \\
\left(\Gamma_{1} \downarrow \neq \varnothing, \text { the maximum of the set } c_{2} \wedge \Gamma_{1} \downarrow\right. \\
\text { exists and } \left.\left.c_{1} \wedge \Gamma_{2} \downarrow \subset L_{\lambda}^{\circ}\right)\right] .
\end{array}\right.
$$

Proof. 1. Suppose first that $\varphi_{\lambda / \lambda}\left(c_{1}\right] \neq \varnothing$ and $\varphi_{\mu / \mu}\left(c_{2}\right] \neq \varnothing$. By (B), either $\left\{c_{2} \cap y \mid y \in \varphi_{\lambda / \mu}\left(c_{1}\right]\right\} \subset \varphi_{\lambda / \mu}\left(c_{1}\right]$ or $\left\{c_{1} \cap x \mid x \in \varphi_{\mu / \lambda}\left(c_{2}\right]\right\} \subset \varphi_{\mu / \lambda}\left(c_{2}\right]$. In accordance with the notation defined above, this means that either $c_{2} \wedge \Gamma_{1} \downarrow \subset L_{\mu}^{\circ}$ or $c_{1} \wedge \Gamma_{2^{\downarrow}} \subset L_{\lambda}^{\circ}$. In the first case $\left[c_{1}^{(\lambda)}\right] \cap\left[c_{2}^{(\mu)}\right]=\left[\left(\max c_{1} \wedge \Gamma_{2} \downarrow\right)^{(\lambda)}\right]$, by (C) and the same argument applies to the second case.

Suppose further that $\varphi_{\lambda / \mu}\left(c_{1}\right]=\varnothing$. By (C), it is clear that $\Gamma_{2} \downarrow \neq \varnothing$ and that the corresponding maximum exists. Since $\Gamma_{1} \downarrow=\varnothing$, it follows trivially that $c_{2} \wedge \Gamma_{1} \downarrow \subset L_{\mu}^{\circ}$.

Finally, if $\varphi_{\mu / \lambda}\left(c_{2}\right]=\emptyset$, we may repeat the same argument by replacing $\lambda$ by $\mu$. Therefore, by ( $\mathbf{A}$ ), the necessity of $(\mathbf{D})$ is proved.
2. For the converse, suppose that $\varphi_{\mu / \lambda}\left(c_{2}\right] \neq \varnothing, c_{2} \wedge \Gamma_{1} \downarrow \subset L_{\mu}^{\circ}$ and that the maximum $m$ of the set $\left\{c_{1} \cap x \mid x \in \varphi_{\mu / \lambda}\left(c_{2}\right]\right\}$ exists. We shall prove that then [ $\left.m^{(\lambda)}\right]$ has the properties of the greatest lower bound of $\left\{\left[c_{1}^{(\lambda)}\right],\left[c_{2}^{(\mu)}\right]\right\}$.

Indeed, if $m=c_{1} \cap c_{20}$ where $c_{20} \in \varphi_{\mu / \lambda}\left(c_{2}\right]$, then $\left[\left(c_{1} \cap c_{20}\right){ }^{(\lambda)}\right] \leqq$ $\leqq\left[c_{1}^{(\lambda)}\right],\left[c_{2}^{(\mu)}\right]$. Suppose we have $\left[d^{(x)}\right] \leqq\left[c_{1}^{(\lambda)}\right]$ and $\left[d^{(x)}\right] \leqq\left[c_{2}^{(\mu)}\right]$. If $\lambda \neq x$, $\mu \neq x$, then there exist $d_{0}, c_{10}, d_{1}, c_{22}$ such that

$$
\begin{gathered}
{\left[\left(d_{0} \cap d_{1}\right)^{(x)}\right] \leqq\left[d_{0}^{(x)}\right]=\left[c_{10}^{(\lambda)}\right] \leqq\left[c_{1}^{(\lambda)}\right]} \\
{\left[\left(d_{0} \cap d_{1}\right)^{(x)}\right] \leqq\left[d_{1}^{(\alpha)}\right]=\left[c_{22}^{(\mu)}\right] \leqq\left[c_{2}^{(\mu)}\right]}
\end{gathered}
$$

On the other hand, $d_{0} \cap d_{1} \in L_{x}^{\circ}$, and so $\left[\left(\varphi_{x / \lambda}\left(d_{0} \cap d_{1}\right)\right)(\lambda)\right]=\left[\left(d_{0} \cap d_{1}\right)^{(x)}\right]$.
We now aim to prove that $\left[d^{(x)}\right] \leqq\left[\left(c_{1} \cap c_{20}\right)^{(\lambda)}\right]$. By the result just proved, we may assume, without loss of generality, that either $x=\lambda$ or $x=\mu$.

Case $x=\mu$. Since $\left[d^{(\mu)}\right] \leqq\left[c_{1}^{(\lambda)}\right]$, there exist $c_{11}, c_{21}$ such that

$$
c_{1} \geqq c_{11}, \varphi_{\lambda / \mu}\left(c_{11}\right)=c_{21} \geqq d
$$

It is clear that $\left[\left(c_{21} \cap c_{2}\right)^{(\mu)}\right] \geqq\left[d^{(\mu)}\right]$ and so $d_{1}=c_{2} \cap c_{21} \geqq d$. By assumption $d_{1} \in L_{\mu}^{\dot{+}}$. Let $e_{1}=\varphi_{\mu / \lambda}\left(d_{1}\right)$. Then

$$
e_{1}=\varphi_{\mu / \lambda}\left(d_{1}\right) \leqq \varphi_{\mu / \lambda}\left(c_{21}\right)=c_{11} \leqq c_{1}
$$

By definition of $c_{1} \cap c_{20}$, we get $c_{1} \cap c_{20} \geqq e_{1}$ and therefore

$$
\left[\left(c_{1} \cap c_{20}\right)^{(\lambda)}\right] \geqq\left[e_{1}^{(\lambda)}\right]=\left[d_{1}^{(\mu)}\right] \geqq\left[d^{(\mu)}\right]
$$

Case $x=\lambda$. Since $\left[c_{2}^{(\mu)}\right] \geqq\left[d_{1}^{(\lambda)}\right]$, there exist $d_{11}, c_{22}$ such that

$$
c_{2} \geqq c_{22}, \quad \varphi_{\mu / \lambda}\left(c_{22}\right)=d_{11} \geqq d
$$

Thus, we see that $d \leqq c_{1} \cap d_{11} \leqq c_{1} \cap c_{20}$. Hence $\left[d^{(\lambda)}\right] \leqq\left[\left(c_{1} \cap d_{11}\right)^{(\lambda)}\right] \leqq$ $\leqq\left[\left(c_{1} \cap c_{20}\right)^{(\lambda)}\right]$. This completes the proof of the theorem.

Corollary. If the first possibility formulated in the condition (D) occurs, then

$$
\left[c_{1}^{(\lambda)}\right] \cap\left[c_{2}^{(\mu)}\right]=\left[\left(\max c_{1} \wedge \Gamma_{2}^{\downarrow}\right)^{(\lambda)}\right] ;
$$

in the case the second possibility occurs,

$$
\left[c_{1}^{(\lambda)}\right] \cap\left[c_{2}^{(\mu)}\right]=\left[\left(\max c_{2} \hat{\wedge} \Gamma_{1}^{\downarrow}\right)^{(\mu)}\right]
$$

In what follows we shall deal with the cofinality and with the dual notion: A subset $M$ of a poset $\mathscr{P}$ is said to be dually cofinal in $\mathscr{P}$ if for every $p \in P$ there exists an $m \in M$ such that $m \leqq p$.

Lemma 2,6. The condition (A) for the amalgam $\mathscr{L}_{1}: \varphi: \mathscr{L}_{2}$ is equivale'rt to the condition

$$
\left(\mathbf{A}^{\star}\right)\left\{\begin{array}{ll}
\left(L_{1}^{\circ} \text { is dually cofinal in } \mathscr{L}_{1}\right) \\
\left(L_{2}^{\circ} \text { is dually cofinal in } \mathscr{L}_{2}\right) .
\end{array} \quad\right. \text { or }
$$

Proof. We observe first that if $c_{1} \in L_{1}$, then $\varphi_{1 / 1}\left(c_{1}\right]=\left(c_{1}\right] \cap L_{1}^{\circ}$; similarly, $c_{2} \in L_{2}$ implies that $\varphi_{2 / 2}\left(c_{2}\right]=\left(c_{2}\right] \cap L_{2}^{\circ}$. Let us now suppose that $(\mathbf{A})$ is valid and that

$$
\begin{array}{lll}
\exists l_{1} \in L_{1} & \forall l_{1}^{\circ} \in L_{1}^{\circ} & l_{1}^{\circ} \text { non } \leqq l_{1} \\
\exists l_{2} \in L_{2} & \forall l_{2}^{\circ} \in L_{2}^{\circ} & l_{2}^{\circ} \text { non } \leqq l_{2} .
\end{array}
$$

Then either $\left(l_{1}\right] \cap L_{1}^{\circ} \neq \emptyset$ or $\left(l_{2}\right] \cap L_{2}^{\circ} \neq \emptyset$. If $\left(l_{i}\right] \cap L_{i}^{\circ} \neq \varnothing$, then for any $x \in\left(l_{i}\right] \cap L_{i}^{\circ}$ we have $x \in L_{i}^{\circ}$ and $x \leqq l_{i}$, a contradiction.

Next, assume ( $\left.\mathbf{A}^{\star}\right)$ is true. If $L_{1}^{\circ}$ is dually cofinal in $\mathscr{L}_{1}$, then for any $c_{1} \in L_{1}$, $c_{2} \in L_{2}$ there exists an $l_{1}^{\circ} \in L_{1}^{\circ}$ with $l_{1}^{\circ} \leqq c$. Consequently, $l_{1}^{\circ} \in\left(c_{1}\right] \cap L_{1}^{\circ}$ and we conclude that ( $\mathbf{A}$ ) is valid.

Corollary. If the amalgam $\mathfrak{A}_{\Lambda}\left(\mathscr{L}_{\lambda}\right)$ is a join-semilattice, then for all $\lambda \in \Lambda$ (possibly except one) the $L_{\lambda}^{\circ}$ is cofinal in $\mathscr{L}_{\lambda}$.

Proof of Corollary follows from Lemma 2,6 and from the obvious fact that for every $\lambda \neq \mu \in \Lambda$ the amalgam $\mathscr{U}_{\Lambda}\left(\mathscr{L}_{\lambda}\right)$ induces the amalgam $\mathscr{L}_{\lambda}: \varphi_{\lambda / \mu}: \mathscr{L}_{\mu}$ which is also a join-semilattice.

## References

[1] L. Beran: Treillis sous-modulaires, II. Séminaire Dubreil-Pisot: Algèbre et théorie des nombres, 22e année, 1968/69 (exposé du 12 mai ).
[2] L. Beran: Amalgames des ensembles ordonnés et des treillis. Summer session on the theory of ordered sets and general algebra held at Cikháj 1969, University Press, Brno 1969 (Lecture held on the 1st September 1969).
[3] G. G. Boulaye: Notion d'extension dans les treillis (et méthodes booléennes), Revue Roumaine de Mathématiques Pures et Appliquées, 13 (1968), 1225.
[4] R. J. Greechie: On the structure of orthomodular lattices satisfying the chain condition. Journ. Comb. Theory 4 (1968), 210.
[5] R. J. Greechie: Orthomodular lattices admitting no states. Journ. Comb. Theory 10 (1971), 119.
[6] S. S. Holland: The current interest in orthomodular lattices. Trends in lattice theory. J. Abbott Van Nostrand, New York 1970, 41.
[7] M. F. Janowitz: The near center of an orthomodular lattice, Journ. Austr. Math. Soc. 14 (1972), 20.

